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E BRI 341,559 329,050 12,509
ERARRUFEN 10 10 0
EEZHE 362,336 371,748 A 9,412
BERMESZMAE 33,854 48,738 A 14,884
RIS &R 287,859 268,402 19,457
BYHE 71,629 73,802 A 2,173
HEASEX (4R 198,229 168,921 29,308
BAEEUNA 10 10 0
B’AE 73,405 79,663 A 6,258
HRins 5,000 5,000 0
E:ION 1,865 2,065 A 200

m A & 1,375,756 | 1,347,409 28,347
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ERZHE | HAE| ot

wEeE 11,916 10,261 1,655 10 11,906
RIRIAE 902,552 899,505 3,047 269,714 368,954 263,884
BUSEZERS 173,829 170,904 2,925| 94,651 5,058 74,120
BB RENTEE 163 219 A 56 163
£ NREILEE 16 16 0 16
NERAE 83,124 81,104 2,020| 48,945 34,179
HEBENTE S 183,855 164,413 19,442 16,228 151,397 16,230
REBEE 17,658 18,345 A 687 4,427 1,300 11,931
HEETS 11 11 0 10 1
NEE 130 130 0 130
ExHE 2,002 2,001 1 2,002
TR 500 500 0 500

) 1,375,756 | 1,347,409 28,347| 433,965 0| 526,729 415,062




